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i) General Awareness

Consider the following statements about
freestyle swimming.

|. Freestyle means that in an event so
designated the swimmer may swim
any style, except that in individual
medley or medley relay events.

Il. Freestyle means any style other
than backstroke, breaststroke or
butterfly.

Ill. Some part of the swimmer must
touch the wall upon completion of
each length and at the finish.

(A) Statement | is true.
(B) Statements Il and Il are true.
(C) All the given statements are true.

(D) All the given statements are false.

“CD_SCO" which is a national regulatory
body for Indian pharmaceuticals and
medical devices. The “CDSCQO” stands
for |
(A) Central Drugs Standard and
Cosmetics Control Organisation
(B) ICen*:ral Drug Standard Control
Organisation
(C)  Central Drug Surveillance and
' Control Organisation

(D) None of the above

3. Consider the following statements about

medley swimming.

l. In individual medley events, the
swimmer covers the three swimming
strokes

Il. Each of the strokes must cover one
third (1/3) of the distance

(A) Only statement | is true.
(B) Only statement Il is true.

(C) Both the statements | and Il are true.

(D) Both the statements | and Il are

false.

Bird Flu (avian influenza) is an infection
caused by

(A) Virus

(B) Bacteria

(C) Protozoa

(D) None of the above

What does the IM stands for in
swimming ?

(A) Individual Medley

(B) International Module

(C) International Misconduct
(D) International Medley

In which of the following region
Madhubani painting was originated ?

(A) Mithila, Bihar

(B) Thanjavur, Tamil Nadu
(C) Mysuru, Karnataka
(D) None of the above
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7.

10.

Consider the following statements about
the Race in swimming.

I. Allindividual races must be held as
separate gender events.

Il. Inall events, a swimmerwhen tuming
shall make physical contact with the
end of the pool or course. The tum
can be made from the wall and stride
or step can be take from the bottom
of the pool.

(A) Only the statement | is true.
(B) Only the statement Il is true.
(C) Both the statements | and Il are true.

(D) Both the statements | and Il are
false.

Hoolock Gibbon, which is a
Vulnerable species in the IUCN Red
list, is native to

(A) Eastern Ghats
(B) North Eastern India
(C) Western Ghats
(D) None of the above

Inthe 2016 Olympics, the highest ranked
country in the total medal counting in
swimming is

(A) China

(B) Australia

(C) Britain

(D) USA

Which of the following Organization/
Group members won the “Equator
Prize — 2019” of the United Nations
Developmental Programme (UNDP) ?

(A) Human Development Society

(B) Community Development Society
(C) Deccan Development Society
(D) None of the above

&

12.

13.

14.
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Who among the following personalities
of India is not a swimmer ?

(A) Nisha Millet

(B) Shikha Tandon
(C) Shivani Kataria
(D) Dipa Karmakar

Which of the following is one of the
UNESCO World Heritage Site in India ?

(A) Golgumbaz of Vijayapura
(B) Rani Ki Vav at Patan
(C) The Charminar, Hyderabad

(D) None of the above

What is FINA stands ?

(A) Feédération Internationale De
Natation

(B) Feédération International
Swimming Natation

(C) Federal Internationale De

Natation

(D) None of the above

“Healthy State, Progressive India”,
Report on Rank of States and UT's
released by

(A) NABARD
(B) NITI Aayog
(C) UNESCO

(D) None of the above
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15,

16.

17.

18.

19.

He has made proud by winning 5 gold
medals at Norwegian Para-swimming
Championship 2019 (Ado Cup). He was
also listed in the Asian edition 2019 of
Forbes list (Forbes 30 U30). He is one
out of the two Indians to be listed under
the sports category. The above said
swimmer is

(A) Niranjan Mukundan
(B) S.P. Likith

(C) Srihari Natraj

(D) None

What is the name of the new commercial
arm of ISRO which was officially
inaugurated recently ?

(A) New Space India Limited

(B) SpaceX

(C) Orbital Sciences Corporation
(D) Ariane Space

World Para-Swimming Championship
2019 will be held in

(A) Sydney
(B) London
(C) Delni

(D) Tokyo

Bandhavgarh National Park situated in
the State of

(A) Bihar

(B) Madhya Pradesh
(C) Karnataka

(D) None of the above

Recently 2019 FINA World
Championships in swimming held in

(A) Gwangju
(B) Beijing
(C) Shanghai
(D) Wuhan

20.

21.

22.

23.

24.
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“Bihu” is an Indigenous folk dance
associated with the State of

(A) Odisha
(B) Assam
(C) Guijarat
(D) None of the above

Which stroke, swimmer covers first in
the Individual medley event ?

(A) Backstroke
(B) Butterfly
(C) Breaststroke
(D) Freestyle

Durand line is a border between
(A) USA and Canada

(B) India and Myanmar

(C) North Korea and South Korea
(D) None of the above

Which stroke swimmers will cover first
in the Medley relay events ?

(A) Butterfly
(B) Backstroke
(C) Breaststroke
(D) Freestyle

“Exam Warriors” an inspiring book for
the youths written by

(A) Narendra Modi
(B) Shashi Tharoor
(C) Manmohan Singh

(D) Nandan Nilekani
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25. Considerthe following statements about

26.

27.

Breaststroke in the swimming.
|. At any time prior to the first
Breaststroke kick after the start and
after each turn a single butterfly
kick is not permitted.

Il. From the beginning of the first
armstroke after the start and after
each turn, the body shall be on the
breast.

(A) Only the statement | is true.
(B) Only the statement Il is true.
(C) Both the statements | and Il are true.

(D) Both the statements | and |l are
false.

Parliament of Japan is called as
(A) National Diet

(B) Jatiya Sansad

(C) Nationa! People’s Congress
(D) None of the above

Consider the following statements about
Butterflystroke in the swimming.

I. From the beginning of the first
armstroke after the start and each
tumn, the body shall be kept on the
breast.

Il. It is not permitted to roll onto the
back at any time, except at the turn
after the touch of the wall where it
IS permissible to turn in any manner
as long as the body is on the breast
when leaving the wall.

(A) Only the statement | is true.
(B) Only the statement Il is true.
(C) Both the statements | and Il are true.

(D) Both the statements | and Il are
false.

28.

29.

30.

31.

32.
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The present CEO of NITI AAYOG is
(A) Ajit Seth

(B) Amitabh Kant

(C) Arvind Panagariya

(D) None of the above

Which of the following Trophy/cup is
related to swimming competition ?

(A) Agha khan cup
(B) Davis cup

(C) Vittal Trophy

(D) None of the above

What is the name of the inter-bank digital
currency which will be co-developed by
UAE Central Bank and Saudi Arabian
Monetary Authority ?

(A) Aber
(B) Ven
(C) Dash
(D) None of the above

Which of the following chemical element
is commonly used as disinfectant in the
swimming pool ?

(A) Chlorine

(B) Sulphate

(C) Phosphate

(D) None of the above

The ICC-2019 Men’s Cricket World
Cup Runner-up prize was won by ?

(A) England

(B) Australia

(C) New Zealand

(D) None of the above
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Who among the following has the Indian
national records in freestyle in 200 and
400 metres in senior men’s category ?

(A) MadhuP. S.
(B) Srihari Nataraj
(C) Sajan Prakash
(D) Advait Page

The retail payments system of India,
NPCI stands for

(A)
(B)

National Payment Cell of India

National Retail Payment and Money

Controller of India
(C) National Payments Corporation of
India

(D) None of the above

Who among the following has the
Indian national records in freestyle in
200 metres in senior women category ?

(A) Shikha Tandon
(B) Richa Sharma
(C) Mana Patel

(D) Shivani Kataria

The famous Dal lake is in the State of
(A) Himachal Pradesh

(B) Rajasthan

(C) Jammu and Kashmir

(D) None of the above

37.

38.

39.

40.
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Michael Fred Phelps, retired swimming
legend belongs to which of the following
country ?

(A) UK.

(B) France

(C) USA

(D) None of the above

World Ocean Day is celebrated every
year on

(A) June 7™
(B) June 5™
(C) June 8"
(D) None of the above

Consider the following statements about
the Start in the swimming.

I. The start in Backstroke and Medley
Relay races shall be from the water.

Il. The start in Freestyle, Breast
stroke, Butterfly and Individual

Medley races shall be with a dive.
(A) Only the statement | is true.
(B)
(©)

(D)

Only the statement Il is true.
Both the statements | and Il are true.

Both the statements | and Il are
false.

The abbreviation “BS” in the BSIV
emission control standards stands for

(A) Business Standard
(B) Bharat Sphere
(C) Business Stage

(D) Bharat Stage
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i) General Intelligence and Reasoning Ability

Ocean : Water : : Glacier : ?
(A) Cooling

(B) Cave

(C) Ice

(D) Mountain

ACEG : DFHJ :: QSUW : ?
(A) TVNZ
(B) TVZX
(C) TVXZ
(D) XVTZ

Traveller : Destination
(A) Beggar : Donation
(B) Accident : Hospital
(C) Teacher: Education
(D) Refugee : Shelter

Find the odd word.
(A) Square

(B) Sphere

(C) Rectangle
(D) Circle

Select the odd one.
(A) |
(B) J
(C) K
(D) L

46.

47.

48.

How many pairs of letters are there in
the word STREAMING which have as
many letters between them as in the

English alphabet ?
(A) One
(B) Two
(C) Three

(D) More than three

The position of how many digits in
the number 8247531 will remain
unchanged after the digits are
rearranged in asccnding order within
the number ?

(A) one
(B) two
(C) three

(D) more than three

In a certain code language ‘BOUND’
is written as ‘OBTDN’, then how will

CODES be written in that language ?
(A) SECOC
(B) OCESE
(C) OCCSE
(D) OCCES
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46. Y15 STREAMING H 78R o T T8

47.

48.

2 s ofte o 3 1 sem & Ry sih
JUHTATH & 7

(A) T=

(B) =

(C) d=

(D) & e

&A1 8247531 ® fhad 3ii &1 R
37| %1 STRIET 39 W S fesrd ot o0 sft et
EEui

(A) T

(B) &

(C) dm

(D) =¥ 3f=

Teh 2 9TNTH ‘BOUND &1 ‘OBTDN' ferat
STaT2, 9 CODES 3¢t T 3 foran
ST ¢

(A) SECOC

(B) OCESE

(C) OCCSE

(D) OCCES
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49.

50.

51.

-14-

In a certain code language,
125 = go to school

146 = study in school

135 = run to school.

Which digit is used for ‘run’ ?
(A) 6

(B) 2

(C) 3

(D) 1

What comes in place of question
mark (?) in the given number series ?
2,3,7,16,32, ?

(A) 57
(B) 37
(C) 48
(D) 55

Pointing towards Rita, Nikhil said,
“I am the only son of her mother's

son. How is Rita related to Nikhil ?
(A) Aunt

(B) Niece

(C) Mother

(D) Cousin

52.

53.

54.

MKG-XX/GENSC/1T/04

There are sixpersons A, B, C, D, E and
F. Cis the sister of F. B is the brother
of E's husband. D is the father of A
and grandfather of F. There are two
fathers, three brothers and a mother in
the group. How is F related to E ?

(A) Uncle

(B) Husband

(C) Son

(D) Daughter

Ravi and Kunal are good in Hockey
and Volleyball. Sachin and Ravi are
good in Hockey and Baseball. Gaurav
and Kunal are good in Cricket and
Volleyball. Sachin, Gaurav and Michael
are good in Football and Baseball.
Who is good in Baseball, Volleyball and
Hockey ?

(A) Sachin

(B) Kunal

(C) Ravi

(D) Gaurav

Six persons A, B, C, D, E and F are
standing in a circle. B is between D and
C. Ais between E and C. Fis to the right
of D. Who is between A and F ?

(A) B
(B) C
(€ D
(D) E



49. T Fe HAIH,

50.

51
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125 = go to school,
146 = study in school,

135 = run to school ® |

run & fore #1 Ht Gem wgEE ® 7
(A) 6

B) 2

) 3

(D) 1

TS T JEATH IH 58 (2) FRIE W
T AT ¢

2,8,7,16:82,2

(A) 57

(B) 37

(C) 48

(D) 55

et AN so R g Ffea A e, “F
3Hh! Wi g I e gA g | e e
FfemawsngEa? ?

(A) g1

(B) wdistt

(C) Hmr

(D) ===

52.

53.

54.

MKG-XX/GENSC/1T/04

6= A, B,C, D, E3RFR IC,F
2 1B, E FURHFIER D, A
<61 a1 3T F 1 fqme @ | S EE A a1
T, <t 91 SR UH HETE | FHE R
FTHIT 2 7

(A) =r=T

(B) ufd

C) ¥

(D) T

1 3fR o, 2T i afefiata i st
Wod @ | gt 3w 1Y, 2t 3 aueia
IFBTEAC & |7TE IR FI, Thcke 3TN
Ficfata ars1 Gad # | ThA, TE ot
HIEhe, Feaial IR SHar TosT erd
2 | duETd, iciEier 3 gl 3Tt
TAd g 7

(A) @

(B) FuA

(C) Td

(D) &

6% A, B, C, D, E 3R F i gu i @3
2B DIMCHATIEIR | A E 3N
CHHEHTEIR |F,DHIME | ASRF
FAEAFRR 7

(A) B

(B) C

(C) D

(D) E
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5.

56.

57.

Aarti is older than Sanya. Muskan
is elder than Aarti but younger than
Kashish. Kashish is elder than Sanya.
Sanya is younger than Muskan. Gargi
is the eldest.

Agewise, who is in the middle ?

(A) Kashish
(B) Aarti

(C) Muskan
(D) Sanya

A man'is facing west. He turns 45° in
the clockwise direction and then another
180° in the same direction and then
270° in the anti-clockwise direction.
Which direction is he facing now ?

(A) South
(B) North-west
(C) West
(D) South-west

If the following five words are arranged
in alphabetical order, which word will
come in the middle ?

Draw, Read, Play, Back, Want

(A) Read
(B) Play
(C) Back
(D) Draw

58.

99.

60.

MKG-XX/GENSC/1T/04

How many such vowels are there in
the arrangement, each of which is

immediately f;ollowed by a number
but not immediately preceded by a
consonant ?

RES5DAPS$3TIQ79B#2K% U
1TMW4*J8N

(A) Three
(B) One
(C) Two
(D) None

In a row of boys facing the North, A is
16" from the left end and C is 16" from
the right end. B who is 4" to the right
of A, is fifth to left of C in the row. How
many boys are there in the row ?

(A) 39
(B) 40
(C) 41
(D) 42

If Tuesday falls on the 4" of the month,
then which day will fall three days after
the 24" ?

(A) Monday
(B) Tuesday
(C) Thursday
(D) Friday



55.

56.

57.

A7

HRfq, a8 wE @ | TR H, AR
TS & Aok SR A B 2 | FHhR,
ArTE TS ® | T, THFH A BRI 2 |
TRfT Ge8 I 2 | 39 % FJER S =
7R ?

(A) HTET

(B) wfd

(C) g&=H

(D) qw=r

T cafdd # q@ v i ST | 98
gfeqomed fesm ® 45° gHar @ o o 36
feam & 180° gmar ® oK R amEw fewn &
270° g | 37 5 HE o feemH 2 ?
(A) =ferm

(B) IW-ufem

(C) diem

(D) <fErur-ufeem

afe FefcrRaa vl =01 guinTen % #9 |
et e 9, A FR-T e S |
3 ¢

Draw, Read, Play, Back, Want

(A) Read

(B) Play

(C) Back

(D) Draw

58.

59.

60.

MKG-XX/GENSC/1T/04

Ffoiga fomrmm U8 fas = g, oo
i STE TEAT T 2, WY i T Ao
T TR ?
RES5DAPS$3TIQ79B#2K% U
TMW4*J8N

(A) o

(B) T

©) &

(D) ®E &l

I 3R He e TS 1 UfFd 7, AT
AN 16TTINCIW AT 16972 | B
STAF WA TR, CHANH T=ai e |
i # foran e ® 7

(A) 39

(B) 40

(C) 41

(D) 42

T2 7w Fi 4 I FI TTEER 2, 91 24
qirE & 1 fed e FR-ar i g ¢

(A) HHER
(B) WTER
(C) T=R

(D) MHAR
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61.

62.

63.

If L stands for +, M stands for—, N
stands for x, P stands for +, then 14 N
10L42P2M8="7

(A) 153
(B) 216
(C) 248
(D) 251

fA+B>C+DandB+C>A+D,
then it is definite that -

(A) D>B
(B) C>D
(C) A>D
(D) B>D

Arrange the following in a logical

order.

1. Shoulder
2. Wrist

3. Elbow

4. Palm

5. Finger

(A) 2,4,5,3,1
B) 3,1,4,2,5
(C)
(D)

3,4,52,1
54,231

64.

65.

66.

D)

MKG-XX/GENSC/1T/04

In a group of cows and hens, the
number of legs are 14 more than twice
the number of heads. The number of
COws is

(A) 5
B) 7
(C) 10
(D) 12

Find the missing number from among
the given alternatives.

4 5 10
(A) 22
(B) 30
(C) 382

(D) None of these

Choose the option which indicates a
valid conclusion for the statement.

Statements : All aeroplanes are trains.
Some trains are chairs.
Conclusions :
I. Some aeroplanes are chairs.
Il. Some chairs are aeroplanes.
Ill. Some chairs are trains.
IV. Some trains are aeroplanes.
(A) None follows
(B)
(C)

Only I and Il follow
Only Il and Il follow
Only lll and IV follow
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A L, + o o I R, M, — o forg @
2, N, x & fou a2, P, - & form sy @,
?ﬁ14N10[__42P2M8=?

(A) 153

(B) 216

(C) 248

(D) 251
IRRA+B>C+D3IMB+C>A+D,al
78 ffa e i
(A) D>B

(B) C>D

(C) A>D

(D) B>D
Freferfaa =t v aifds w0 | sgafem
FIfre |

1. e

2. HAlR

3. WAl

4. B

5. It

(A) 2,4,5,3,1
(B) 3,1,4,2,5
(C) 3,4,5,2,1
(D) 5,4,2,3,1

64.

65.

66.

MKG-XX/GENSC/1T/04

TR 3R gft o v wge §, i i wen
% QM B W aEA 14 JARF R | TETH
TEATE

(A) 5

(B) 7

(C) 10

(D) 12

fou e fospent § & Tvd A 1 it |

4 5 10

(A) 22

(B) 30

(C) 32

(D) T H®E i

Tz Tascd 9T ST FoF =g U 9 Feed
91T |

FeA ; 9t TAE RN WAt @ | F9
AT HiEar e | -
e

. FS TR T FHAl© |

I, e FHiHaTeaE SEW ¢ |

Il F= HRAT emfeai e |

IV. S {erTIieal eaTs SIe @ |
(A) FE SRV T FEATE |
(B) e | 3T || ST A B
(C) et |1 37 111 STET A & |
(D) e Il 37 |V T80 i &
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67.

68.

70.

If in a certain code language ‘MIGHT’
is written as GHMTI, then how will
‘EARTH’ be written in that code ?

(A) RTEHA
(B) RTEAH
(C) RTAEH
(D) RETHA

Select odd one.
(A) MORV
(B) CEHL
(C) CENT
(D) JLOS

What comes in the place of ‘?’ in the
series ?
3,5,13,49,241, 7

(A) 1541
(B) 4411
(C) 1600
(D) 1441

What should come in the place of ‘?’ in
the following alpha-numeric series ?
ST39, UV43, WX47, ?

(A) YZ47
(B) YZ52
(C) YZ51
(D) YX50

1.

72.

73.

74.

MKG-XX/GENSC/1T/04

What will be angle between the hour
hand and minutes hand of clock at
8:30 ?

(A) 15°

(B) 30°

(C) 45°

(D) 75°

If Republic Day was celebrated in
1996 on Friday, on which day in 2000
Independence Day was celebrated ?

(A) Monday
(B) Tuesday
(C) Wednesday
(D) Saturday

W walked 40 m toward West, took a left
ium and walked 30 m. He, then took a
right turn and walked 20 m. He again
took a right turn and walked 30 m. How
far was he from the starting point ?

(A) 70m
(B) 60 m
(C) 90m
(D) None of these

There are 5 books A, B, C, D and E.
Book C lies above D. Book E is below
A, Dis above A and Bis below E. Which
book is at the bottom ?

(A) E
(B) B
(C) A
(D) C



67.

68.

69.

70.
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we Ffeaa g ST H ‘MIGHT 1 GHMT]
foran st 2, a1 3Ht 2 9T § ‘EARTH?
1 9 forgr s 2

(A) RTEHA

(B) RTEAH

(C) RTAEH

(D) RETHA

Taut g |
(A) MORV
(B) CEHL
(C) CENT
(D) JLOS

FEATH 2’ o TH TR ?
3,5, 13, 49, 241, ?

(A) 1541

(B) 4411

(C) 1600

(D) 1441

Frefofaa ster-vem geend 2" &
T 9T =T 30T ¢
ST39, UV43, WX47, ?
(A) YZ47

(B) YZ52

(C) YZ51

(D) YX50

5

72,

73.

74.

MKG-XX/GENSC/1T/04

8:30 W He 3 e i dai o
T =1 0T 2T 2

(A) 15°
(B) 30°
(C) 45°
(D) 75°

fe 1996 H TV fea YR o HART T
o, A 2000 ® Waman fag fFa e =
HATITIT &1 ?

(A) IR
(B) WIEK

(C) FHar
(D) WIFER

W afeem 1 iR 40 1. S, S geare
3R 30 Ht. erar e, fR 9= o geare afi
20 Hi. SeraT 2| §H: <00 gt @ 37K 30 Hi.
T 2 | 9 AR g A R @ 2 2
(A) 704

(B) 60 Ht.

(C) 90

(D) THAFE &

59 A, B, C, D 3R E ¥ | 75 C,
DHFIWBIGEHE, AFNR, D, A%
FW I B, EF IR med I
HH- e 2

(A) E

(B) B

(C) A

(D) C
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75.

76.

Choose the suitable reaction to the
following problem.

If in an examination hall, you find the
question paper is too tough to be
answered satisfactorily by you, the best

thing to do for you is to

(A) Tellthe examiner that the questions

are out of course

Provoke the candidates to walk out

(B)
of the examination hall

(C) Try to know something from your

neighbour

(D) Tryto solve the questions as much

as you know with a cool head

If A+ B means A is the father of B.

If A x B means A is the sister of B.

If A$ B means A is the wife of B.

If A % B means A is the mother of B.
If A+ B means A is the son of B.
Which among the given expressions
indicates that M is the daughter of D ?
(A) L%R$D+TxM

B) L+R$SD+MxT

(C) L%R%D+T=M

(D) LSD+-R%M=T

7,

78.

79.

80.

MKG-XX/GENSC/1T/04

What was the day of the week on
4" June, 2002 2

(A) Tuesday
(B) Monday
(C) Friday

(D) Saturday

Replace the question mark (?) with
suitable option.
77,89, 55, 35, 25, ?

(A) 24
(B) 28
(C) 20
(D) 27

If in a certain code language ‘TRUE’
is written as 81213 and LIFE is written
as 15182122, then how will NEVER be
written in that language ?

(A) 13225229
(B) 22135229
(C) 13225292
(D) 13222529

Select a odd pair.
(A) Captain: Team
(B) Boss: Gang

(C) Prime Minister : Cabinet

(D) Artist : Troupe
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FrerforRaa wwen w g wfafrr g |

e U WieAT gt |, 39 I & o W =

A FieA ¢ T T 30T HATSHS I

71 2 Hehd | GE T ST 37T H T &,

CihS

(A) Tierh HT Fe B I TeTEH ¥
TR HE |

(B) 3T 1 e =it o et 9l 9TH
o feTq W |

(C) T TS U TS THH o T 4 |

(D) 32 femm & foran st s & 3 '
A ol IR H4T |

IRA+BHFFIRA BF Uiz |
IAxBHFIIMIEA BRI FEAE |
IRASBHF IR A BHI TR |
I A% BHFI IR A BFRIW@TR |
IRA+-BFAHRA BF TR |

4 ¢ rfireafRat § @ - 7 S
2, M DFITHR?

(A) L%R$D+TxM

B) L+R$D+MxT

(C) L%R%D+T+M

(D) L$D:=R%M=T

7.

78.

79.

80.

MKG-XX/GENSC/1T/04

450, 2002 FIHH-TIfeA A ?
(A) HIEER
(B) |WER

(C) THAR
(D) WHER

3T foshed § W - Tog (?) 1 wiceia
FHIT |
77,59, 55, 35, 25, ?

(A) 24
(B) 28
(C) 20
(D) 27

Ife v fAfvea e 9T H TRUE 181213
3 LIFE #1 15182122 for@n 9imn 2, a1
34t T § NEVER ®1&d forar st 2

(A) 13225229
(B) 22135229
(C) 13225292
(D) 13222529

T form gm g |
(A) FH : dH

(B) =if@ : T

(C) JumHsf : Hferre
(D) FARHR : 70
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i) Arithmetical and Numerical Ability

0 a 3
If |, b —1 | is askew-symmetric
c 10

matrix, then the value ofa+ b +c =
(A) 0

(B) 5

(C) -5

(D) None of these

Total number of possible matrices of

order 3 x 3 with entry 1 or 3 is
(A) 512

(B) 27

) 9

(D) 81

If A and B are matrices of same order,

then AB'-BA’ isa

(A) Skew-symmetric matrix
(B) Null matrix

(C) Symmetric matrix

(D) Unit matrix

84.

85.

s 2 s
If A= 2
L O}JhenA

(A)

(B)

COO
© 1o o

(D)

Inverse of A =

o O —

o N O

o o O
&

(A)

B) |0

e D
O = O oOoNl=a O
- OO0 o o o

(C) Does not exist

(D) None of these
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iii) sreRTIOT R Ud HEaTE aran

afe

0 a 3
2 b1 }@ﬁwwﬁﬂw
¢ 1. 0

?, Ma+b+cHFTAR
(A) 0
(B) 5
(C) -5

(D) T A HE T

wfafsd 1 a1 3% @ 3 x 3w F Hva
ST 1 e T 2

(A) 512

B) 27

€) 9

(D) 81

afe A 3R B 99H I % AR 8, a1
AB'-BA'T&H___ |

(A) Torwm-wmfia s
(B) A IR
(C) wmfia 3TegR

(D) THE HEgE

84. Il A:_[? }%,a‘me:

85.

1
0
(A) [0 1:|

®) i 0}

(A) |0
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86. The value of the determinant
X X+y X+2y _

X+2y x .- x+y|®
X+y x+2y X

(A) (x+y)
(B) 9y*(x+y)
(C) 3y*(x+y)

(D) 7x*(x+y)

87. The domain of sin~'2x is

(A) [-1,1]

® [-3:3]
©) -3,-2)

(D) None of these

88. The value of the expression
sin(cot™ (cos (tan™'1))) is

(A) 0
B) 1

C) !

B

© %

89.

90.

91.

92.

MKG-XX/GENSC/1T/04

If the set A has 6 elements and the set
B has 4 elements, then the number of
one-one functions from A to B is

(A) 720

(B) 360

(C) 0

(D) None of these

If a relation R on the set A = {x, y, z}
is defined as R = { (x, 2), (y, 2) }, then
Ris

(A) Reflexive

(B) Symmetric

(C) Transitive

(D) Equivalence

The maximum number of elements in
equivalence relations on the set
A={1,2 8}is

(A) 1
(B) 5
(6’3
D) 9
The function f(x) = 3?(:";2- is

(A) Discontinuous at only one point
(B) Discontinuous at exactly 2 points
(C) Discontinuous at exactly 3 points

(D) None of these
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X X+y X+2y
X+ 2y X X+Yy
X+y X+2y X

T

F

T2
(A) 9E(x +y)
(B) 9y*(x+y)
(C) 3yx+y)
(D) 7x*(x +y)
Sin' 2x FTIE 2
() =151

1 1
® [-3.3]
C) 3.-2}

(D) & FE T

AR sin(cot (cos (tan-'1))) &1
TR

(A) 0
B) 1

1
o
NE]

(D) \/%

89.

90.

91

92.

MKG-XX/GENSC/1T/04

afe Ty==a A 6 T oI Tg==a B H
4TEE, MAT B T TH-UaF G Fi
eI

(A) 720

(B) 360

(C) 0

(D) $HH =K T

I T=ag A = {x, y, z}) WEIY R

R ={(x 2), (y, 2) } % &9 ¥ gftaifia fw=n
TR, AR R

(A) HEdA

(B) Twfua

(C) dFms

(D) HHgeHIdT

A A =1, 2, 3) WENGT T4 H a |
&I ATy TEAT R

(A) 1
®) 5
(C) 3
(D) 9
o f(x)zsi—-x:z

(A) ¥ T foig W AR
(B) ik 2 foiged W TR
(C) dier 3 Teigati W e
(D) ¥ & % Tl
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d’y
fx=1,y=t,then —> =

dx
A 4

B®) %

4
© 5

(D) None of these

_ 2 d |
Ify = 1og[1+—:2], then E:/E =

o

(B)

3
@ 2
1-x

The derivative of cos™ (1 — 2x?) w.r.t
sin“'x is

(A) 2

®) e
©) 2%

1
0 3

96.

97.

98.

MKG-XX/GENSC/1T/04

If f(x) = x® sin % , X#0, then the value of

the function f at x = 0 so that the function
becomes continuous at x =0 is

(A) 0
B) -1
€) 1

(D) None of these

The value of C in Rolle’s theorem for
the function f(x) = x* — 4x in the interval
[0, 2] is

® %

® 77

1
C) t—
(©) 5
(D) None of these

The point on the curve y? = 2x , where
the tangent makes an angle of gwith

(43
® (3.4)
o (34

(D) None of these



1 0 O

- 2
93. WRx=t3y=td @Iy _
dx®
4
A 4

® %

4
(C) of

(D) 39 A i T

94. gy = Iog[%—xz]%,ﬁf )

+x?

(A)

(B)

(©)

(D) —4X3

95. sin'x HHWE cos™ (1 - 2x?)
FeherS B
(A) 2

®) 241—):2
©) %

3
(D) >

96.

97.

98.

MKG-XX/GENSC/1T/04

Ife f(x) = x® sin % x#0 2, AX=0W
HT 1 WH 391 BT IS8 el x = 0
e e ?

(A) 0

B) -1
©) 1
(D) ¥ ¥ FE T

ST [0, 2] F e f(x) = x° — 4x &g et
FIIH CHAAR

w ¥
® Y5
(C) i—\/%
(D) T A 7

Th y? = 2x W a8 Toig, et wasfan
X-3T81 o ET g TR S R, T8 R

" ()
® (3.6)
© (3.4
(D) FH & HE T
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100.

101.

102.

'
00 = - ——

, then its maximum
4x° +2x +

value is

A %

® %

(C) 1

(D) None of these

The minimum value of sinx cosx is

a

4
1
® -5
© -2
D) -1

e
sin® x cos® x

(A) tanx +cotx+c
(B) cotx—tanx+c
(C) tanx—cotx +c
(D) None of these

.[ X+3

e*dx =
(x + 4)?

ex
*) (x+4) e

_.ex
(X+4)

X

(x+4)’

+C

(B)

(C) +C

(D) None of these

103.

104.

105.

106.

MKG-XX/GENSC/1T/04

sinx

e -cosxdx=

O t—yr3 | 3

(A) e

(B) e-1

(C) e?

(D) None of these

2n
j cos®dx =
0

(A) 2rn
(B) 5
(C) 0

T
© &

x”cos® x dx =

!\)_lﬂ'-_.N]ﬁ

(A) 12n

(B) 14=n

€ 0

(D) None of these

The area enclosed by ellipse
x2 2
—f = =1
9 16 is equal to
(A) 9r sq. units
(B) 12r sq. units

(C) 16msq. units

(D) 247 sq. units



SO A

99.

100.

101.

102.
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uﬁf(x)z——z—1—%,€r3aaﬂa®w
4x° +2x+1
AR

A Y
® %

(€) 1
(D) ¥ ¥ T

sinx cosx =T ~IdH HH 2

1
® -

:
(B) 5

©) 2
(D) -1

J‘ dx _

sin® x cos? x

(A) tanx + cotx +c
(B) cotx—-tanx +c
(C) tanx—cotx +c
(D) T A= T

J' X+3 o
(x +4)?

(x+4)
_.ex
+
(x+4)

(A)

+C

c

(B)

X

e
(x+4)?

(D) T 8 HE T

(€)

+C

103

104.

105.

106.
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: Te"‘“"‘cosxdx=
0
(A) e

(B) e-1
(C) e?
(D) 3 & &% T

2n
_[ cos®dx =
4]

(A) 2r
(B) 5
(C) 0

O 3

x”cos® x dx =

N|:L.‘--—N|?4

(A) 12n
(B) 14rn

() 0

(D) T A FE

2 &

aﬂqa%+:’—6=1§mm%mw
CERTC R

(A) 9r T AT

(B) 12n 7 sigaf

(C) 16n 3 AT

(D) 24n =i 3T



107.

108.

109.
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A vector in the direction of 5?— j+ 2k
which has magnitude 8 units is

5i — 8]+ 2k
@ —
V30

(B) 8(5?—}+2l7:)
J30

©) ,86i-i+2)
70

(D) None of these

If 8 is the angle between two vectors
aand b, thena-b =0 only when

T
A) O0<b<—
(A) 0< <2

T
B) 0<9<—
(B) >
(C) 0<8<m

(D) 0<8<n

If & = 3i+2j+8k and b = 2i+mj+k are
perpendicular to each other, then m =

(A) 7
(B) -7
(C) O

(D) None of these

110.

111.

112.
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If A and B are two avents such that
1 1 1
P A = P i —
(A) " (B): 2andP(AmB) z
then P(A'nB’) =

(A)

(B)

(C)

(W W= |l

None of these

(D)

In a box containing 100 bulbs, 10 are
defective. The probability that out of a
sample of 5 bulbs, none is defective, is

o (3]

9y
® (i)

1

©) 10

(D) None of these

Two events A and B are independent, if
(A) A and B are mutually exclusive
(B) P(AnB’)=(1-P(A)) (1-P(B))
(C) P(A) =P(B)

(D) P(A)+P(B)=1



107.

108.

109.

5i— j+ 2k 1 e ¥ u wlew fm
qRET 8 SHEATR, FE R

(A) 5i—-8j+2k

V30

8(5i - j+2k
- JT;OE*:)

iy i8(57'—]+2ﬁ)

(D) FHAHE T

Ife o AT & 3 bh A= FHRL,
T a-b>0 Fad 5a

L

(A) 0<08<

N A

(B) 0<oB<

N A

(C) 0<B<m

(D) 0<0<n

I3 & =3i+2j+8k 3 b=2i+mj+k
TF FRF AEad &, a1 m =

(A) 7
B) -7

(©) 0

(D) T AHE T

110.

111.

112.
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afk A 3R B 2 weant 7w v

1 1 1
P(A):Z'P(B) :E@TP(AﬁB)Z‘é 2,
A PN MB) =

(A)

(B)

(©)

W |l oW,

(D) THASE T

TF & | 100 Fosl @ o ¥ 10 @E §,
5dcal & U A1 B A FE ot @E A g,
ok ATl 2

36)
J0)

© L

10

(D) FHAFE T

T A IR BEAT 8, Il

(A) A 3R B TER J{uasl 2

(B) P(AnB’)=(1-P(A)) (1-P(B))
(C) P(A)=P(B)

(D) P(A)+P(B)=1



A 0 O O

113. The distance of the plane
2X + 3y — z = 5 from the origin is

A —5—units
W A

(B) 5 units
(C) %units

(D) None of these

114.  Equation of the plane whose intercepts
on X, y, z are respectively 1, 2 and 3 is,

(A) x+2y+3z=1
(B) 6x+3y+2z=6
(C) 6x+y+z=6
(D) None of these

115. Angle between the planes

2X+y+3z-2=0andx-2y+5=0is

(A) 0

B)

(©)

Al NS

(D) None of these

116. Vector equation of the line
Xx-5 _y+4 z-6
8 ot

IS

(A) T =(5i—4j+6k)+A(3i+7j+2k)

(B) F=-2i+11j—4k

(C) T =(=5i+4j-6k)+A(3i+7j+2k)

(D) None of these

-34-

117.

118.

119.

120.
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The general solution of the differential
equation x° By —y° is
dx

(A) x*+y*=c
(B) X“—y“:C

—4
(C) x*‘+y—5-=c

(D) None of these

A homogeneous differential equation of

the form X = 9(5] can be solved by
dy y

making the substitution,
(A) y=vx

(B) v=yx

(C) x=vy

(D) x=v

Integrating factor of the differential
. dy 2 .
xlogx—+y = —logx
equation xlog e y xog is
(A) xlogx
(B) logx
1
(C) .
(D) None of these

If z=2x + 3y where x>0, y >0 and
X +y < 4, then maximum value of z is

(A) 12
(B) 8
€ 0

(D) None of these



113.

114.

115.

116.
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qe A WA 2x + 3y -z = SRR
5 .

(A Jiz T

(B) 53FRAl
5 .

(C) 74 TEEl

(D) 3 A HE T

R T T S X, Y, Z 1 HHI:

1,2 3 3 W Afered Far?
(A) x+2y+3z=1

(B) 6x+3y+2z=6

(C) 6x+y+z=6

(D) T & &% Tl

HHAA 2X +y +32-2=0 M x -2y +5=0
FAE IR
(A) 0

(B)

Ala N

(C)

(D) A T

T "55:";4:2;6 F1 afe

et 2

(A) T =(5i—4j+6k)+A(3i+7j+2k)

(B) F=-2i+11j-4k

(C) T =(-5i+4j—6k)+A(3i+7]+2k)

(D) T q &R &

31

118.

119.

120.
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ITFhd THEHIT xlogxg—:+y=§logx
T THTHH 1O B

(A) xlogx

(B) logx

:
(C) -
(D) 3 & FE &l

Ife z=2x+3y FET x>0, y>03K
x+y$4%,?ﬁ2‘°|'7f31@1$ﬂm?ﬂ%
(A) 12

(8) 8

(C) 0

(D) T § &R T



121.

122.

123.

124.
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iv) Hindi Language and Comprehension

== amw sl Ay

R A o TR TR AR e | 125, ‘TR R Y 1 [ R |
AT I TIAHE F FTH BT S, T B (A) T
(A) fomreor B) 3
(B) HeHM (©) T
(C) 3w (D) &
s 126, % 2 PR g e R
T |WIH FATR | IRITE 2 7
(A) T (A) TE I
(B) wTiereaq (B) Too U
(C) =M (C) WMy
(D) FAHM R 94 IHI (D) IFFHTA
30 @ S § 930 7 BHaTer es 2 127. THASH-T1IET STHUH BRI 51 3SR
(A) Ta@ et
(B) ¥ (A) TEA A HaT? |
(C) = (B) AR AR |
(D) < (C) TH AR |

: (D) e TR |
TR TR ST I
IIER | 128. Timforfea d an-o B smim iR 7
(A) (A) Fre
(B) FH (B) €
(C) W (C) Fege
(D) = 3T 9w 3 (D) g
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129. 7§ hH |1 vise Yfewin 3 wgEa i v ¢ | 134, Frfiaa 3 4 frw awr F sgentiorn
(A) ad (B) foae 7
O - O (A) Fgarg
130. ‘A=A FIHH-TTHAE R 7 (B) Hug g
(A) dcgE .
(B) i (©) Fgm
C) &= (D) AT & NwIE
D) R
) 135. ‘3 T ERET 39 Yol 1 31 2
131. 9y ¥7o1 F1 Sga= ¥R (A) T TR
S e ot
®) T (B) Iear- FEFT
(C) a4 (C) Tram g e &
(D) Al (D) ¥ & wifFa EFm
e WiSeE T AR 136. ‘it A e R JART T&i A F
(A) 91 + 7T
(B) =+ FHE |
(C) 9% + HY (A) =i
(D) I + 73 (B) =4
133. i fifau (C) 3MI&H
H) THEE  F) TH @R (D) i
3AT) A Q) T ST e
3) deSe M) TR 137. fofea’'=ei_ wwm? |
ST LI (A) dqcgey
AF T @ B) =R
BT & @ )
©nT @ = (C) =
@ T =F (D) 3EFE

g7-



138. Siga forftau ;
31) o gfer F) M
) T @) Tl
3) gfedfy T) &
3) A Efy ) WER
A e 3 3
AT & ¥ @
BT ¥ % @
©% w 7w @
g T @ &

139. ‘T vieg 1 foaim wee 2

140. T=fciiaa fora T & vgaa R wEm

g ?

(A) He = gt feram g |
(B) WAy dag |

(C) WAt
(D) A @R |

141, =70 9 T g & ot vree FHa &
iETE E 7
(A) SIS, ARE, FR, T
(B) TR, Uehst, STcTe, ARG
(C) STt Uehst, 3eUct, TS
(D) 39, oI, Uk, TG

142.

143.

144.
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SHgeR ferfta : :

) FYE T F) AewANSR

A’M) FAFRE W) FHECTR A
et

3 FOFRE ) How T H
TEd1 &

) FREmERE u) I T
el

a

(A) =

©€) =

ad@ o9 $§ 4 b

A3
T @
® " @ T
T @
T o9

D) =

"I Y758 I Sga=H TR
(A) o

(B) At

(C) s

(D) ST

‘& 7 T I ©
(A) 1]
(B) T
(C) =3
(D) 33
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145.

146.

147.
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SirgeRt forfiag -
¥H) WRITER T F) THEE Y e

%T "
) AWM AW, W) s uf=a

T3eAl &% W T G 1 &
TR
3) TWRATFREET ) e aftgm @
i

3) WA AW o) Fa9H agd ID
T FE Al
S | (. S

AT ¥ F g

BT & ¥ @

©F T @ ¥

M=% @W v 7

g forftam -

3) IxdE g F) dvated

AN TREEAE @) "G

3) TEaEE ) HANH

3) TEiREwE W) UGeosnd
A oz 3

AF T @ ¥

®7T ® @ ¥

©F @ ¥ 7

% ¥ 7T @

AT A& G S 3 AR & 37

(A) FEFRI R o

(B) S 3FIE R

(C) i@ ®: PR

(D) TomTaM ot 3 g

148.

149,

150.

151.

152.
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Hq + MR =
(A) GdER
(B) WM
(C) He=R
(D) |H9™ER

T’ 31 &1 SgaH F9 2
(A) TH

(B) T

(C) M

(D) Td

“Hiar’ vee i TETT=E G91 E
(A) fiaE

(B) i

(C) Tiem

(D) fiam

FHATT : G AT +: YEaT=a -

(A) TFHH

(B) TFHe

(C) Tormue =& S

(D) TEFHF IR FFHE IAI

Gy Iea 1 feiE Tea @
(A) foag

(B) 3

(C) Fa=

(D) @«



| 0 A

153.

154.

155.

156.
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"4 % Td 91 TEl Fear sqAEE W

758 1 98 T 2

(A) SiaTee ST, Jfee, T,
FHETH

(B) ifciarr=es &=, Eftfert, siga=m,
HHTE

(C) SiTfcarresk |3, SiferT, Tha=r,
FHFH

(D) fFTaTERR, Gicein, TehereH, ShHehTeh

@l@ﬁﬁf@ﬂ
3) ToRtm
A1) FAT
3) TX
3 M
3
(A) T
(B) T
C) =
(D) &

ﬁv_cﬂ:ﬁ'c'_vﬁ::@:___ﬁ
(A)

(B) gfea

(C) T

(D) ==

IﬂﬂT:!ﬁﬂﬁ::ﬁW:
(A) T

(B) g

(C) et

(D) #a

Eﬁ)f%l'“?l.

@)
M) T

¥) IR

g 4 8 8 ¢
H o 6 o
& o o & b

157.

158.

159.

160.
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HFIETXBEFI'%::WX
(A) 3=
(B) 3&H

(C) =I™
(D) I=m

T gk e, T 5 T S
2, 7o e &1 ST | 3 i e e
; o

TSI % FTRAE |

(A) TEETA, FHGAT qUT HHATT
(B) o=y, AEaTT aYl HHaTT
(C) HHaT=A, FgaTed q9T AEaT=T
(D) ST, FHAT qUT ATFTH

Steet forfam -

A) EEE  F) TR T

) FANHE @) AN G I S

3) v ) 9 SRS ®
AW 3

AT @ ®

B @ & T

C & TN @

Oy & @ 7

T Y HH-TT I AW & He ¢

(A) T TR

(B) T e

(C) Hug g1l

(D) A T Y& feram o
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v) English Language and Comprehension
ST W iR =y

Fill in the blanks with appropriate verb :

161. Three elderly patients
last week in the hospital.

(A) died
(B) has died
(C) had died
(D) dies

162. Nearly 600 laptops from the
office last night.

(A) stole

(B) had stolen

(C) has stolen

(D) have been stolen

163. Itis only a problem in Britain now, but
it the rest of Europe soon.

(A) affects
(B) is affecting
(C) will affect
(D) affect

Use appropriate modals to fill in the blanks :
164. Have something to eat before you
(A) leave
(B) left

(C) will leave
(D) had left

-41-

165.

166.

i me to get you some
water ?

(A) Would you like
(B) Should you like
(C) Shall you like
(D) Will you like

She swam strongly and Cross
the river easily, even though it was
swollen by the heavy rain.

(A) can

(B) was able to
(C) could

(D) will

Fill in the blanks with appropriate article :

167.

168.

Look at moon, it's very
bright. '

(A) a

(B) the

(C) an

(D) not needed

Sydney is beautiful city.
(A) a

(B) the

(C) an

(D) not needed



169.

climate is one of the many
factors involved in changing farming
methods.

(A) A
(B) An
(C) The

(D) none of the above

Use appropriate phrasal verbs and fill in the

blanks :

170.

171.

172.

-42-

| must the fellow’s secret.
(A) get off

(B) get across

(C) getat

(D) geton

| tried to phone you last night but
couldn’t

(A) getin
(B) get off
(C) get through
(D) put through

The strike was
(A) called off
(B) called upon
(C) called at
(D) called on

MKG-XX/GENSC/1T/04

Add suitable question tag and fill in the
blanks :

173.

174.

175.

176.

They will help us,
(A) will they ?

(B) won't they ?
(©)
(D)

are they ?

don’t they ?

There hasn’t been much rain,
(A) has there ?

(B) hasn't there ?

(C) isthere ?

(D) isn’t there ?

You're a dancer,
(A) areyou ?
(B) aren’t you ?
(C) doyou ?
(D) don'tyou ?

Select the sentence which is in simple

present.

(A) Rain falls from the clouds.
(B) He has purchased a new car.
(C) Ishall do it tomorrow.

(D) She is going to the Church.



Complete the following sentence using correct

option :

1T

178.

179.

180.

-43-

The rain had stopped
(A)
(B)
(C)

before we reached the station
before we had reached the station
when we reaching the station

(D) when we had reached the station

After | dinner, | watched TV.
(A) finished

(B) had finished

(C) finishing

(D) finish

If it rains,

(A) the ground is wet

(B) the ground gets wet
(C) the ground will be wet

(D) the ground would be wet

‘He did fairly well in the examination.’

The underlined word is
(A)
(B)
(€)

an adjective
adverb
noun

(D) preposition

MKG-XX/GENSC/17/04

Fill in the blanks with appropriate preposition :

181.

182.

183.

The post office is close
A) to
(B) in
(C) by
(D) at

He seems to be bent mischief.

(A) on
(B) through
(C) of
(D) for

The ship was bound
New York.

(A) from
(B) for
(C) in

(D) with

Change the voice of the given sentence :

184.

Who broke the toy ?

(A) The toy was broken by whom ?
(B) The toy is broken by whom ?
(C) By whom is the toy broken ?

(D) By whom was the toy broken ?



185. He was elected Mayor by the people.
(A) The people elect him the Mayor
(B) The people have elected him the
Mayor
(C) The people elected him Mayor

(D) They people had elected him Mayor

186. ‘He gave us some money.’

(A) We are given some money.
(B) We were given some money.
(C) They give us some money.

(D) They give him some money.

Select the correct indirect speech for the

following :

187. The policeman said, “Let the door be
open.”
(A) The policeman said to open
the door.
(B) The policeman asked to open
the door.
(C) The policeman ordered to let

the door be open.
The policeman order to open

(D)

the door.

MKG-XX/GENSC/1T/04

188. He said to him ‘| will meet you tomorrow.’

(A) He said to him that he will meet
him tomorrow.

(B) He said that he would meet him
tomorrow.

(C) He told him that he will meet him
the following day.

(D) He told him that he would meet
him the following day.

Fill in the blanks with correct option from the
given words :

189. Kaspar nowadays, he's so busy

at the office.

(A) We see hardly ever
(B) We hardly see ever
(C) We hardly ever see

(D) Hardly we ever see

190. Itwasthe thing to say.
(A) most rediculous

(B) ridiculous

(C) ridiculousest

(D) most ridiculousest

191. He was busy his home work.
(A) todo

(B) doing

(C) that he was doing

(D) he was doing



192. It was midday

light.

(A) even SO
(B) although
(C) even

(D) even though

193. | am thinking
(A) to visit
(B) to visiting
(C) for visiting

(D) of visiting

194. Heisill
(A) yet cheerful
(B) but he is cheerful

(C) so heis cheerful

, | put on the

Kashmir.

(D) therefore he is cheerful

Choose the Synonym of the given word :

195. IMPAIR

(A) damage
(B) organise
(C) confuse

(D) praise

MKG-XX/GENSC/1T/04

196. OBSTINATE

(A)
(B)
(C)
(D)

adamant
flexible
harmtul

deceive

Choose the Antonym of the given word :

197. DIN

(A)

(B)
(©)
(D)

198.
(A)
(B)
(©)
(D)

silence
rattle
roar
blare

ABET

raise
fail
provoke

stir

Choose the wrongly spelt word :

199. (A)
(B)
(C)
(D)

200. (A)
(B)
(©)
(D)

EMINENCE
ABHORRENCE
CONCORRENCE
OCCURRENCE

ANCILARY
AUXILIARY
DIETARY

BINARY
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SPACE FOR ROUGH WORK
T &1 & foro Tom
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SPACE FOR ROUGH WORK
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IMPORTANT INSTRUCTIONS TO CANDIDATES

IHIGARI o ToT0 Wgwqut 3HEw

13.

14.

15.

17.

18.

19.

This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

000

The Candidate must mark his/her response
after careful consideration.

Wrong Method

C®00

Correct Method

Ce00

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17

18.

19.
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